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20218 E0la AT AIESEEAH SH

FN: 2SS M
M FFLB2IAY
Cel: A2 (4=ZAIESEEAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
HE2AE L 13,212,130 17,119,344 A 3,907,214
s 2,827,000
= 1,877,000
s 8,508,130
FE =2 AY 11,712,130 16,171,554 A4,459,424
s 2,827,000
= 1,877,000
[ia 7,008,130
A2 (4T AL SESAH) 3,853,970 4,479,405 A 625,435
F=Z2dg2e 2,023,970 1,945,195 78,775
101 @124l 38,748 28,663 10,085
4 JI2ZtHZ22 s+ 38,748 28,663 10,085
OXH+T HENFL L 4+TAE HEXY
ol 35,623
—JlEs 72,1203 * 190 2 +3H +2 x4 3] 32,887
— WSl 2,000& x 190 A +3H x2 2 x4 3| 912
— = Al 4,000 * 1900 & +3H 2 x4 3] 1,824
OXgaxz D2 d (=SHBI| wi) 3,125
—Jlzs 72,1203 x2H 22 108 2,885
— n Sl 2,0003 x2F 2L 108 80
— =2l 4,000 2«22 102 160
201 LEr2 Y| 1,611,374 1,652,084 A 40,710
01 At 2teltl 148,410 144,880 3,530
O=x2 & 21AM 400&+10,000% 4,000
O=SZH (8287, €A, HI&422)
8,000 x20H 43|« 128 7,680
Ox=EANE 2223 HE W=
360,000 »8H 2,880
OtlzR=5(E2E) 25,0003 x40 2 x128 1,200
OAIRIII A28 2 (B+T)
100, 000& *4JH 2 63| 2,400
OAFRI1Dl 2t (H+&) 200,000 =44 2~ 800
OREH ¥ =82 600, 0002 2004 2 12,000
Ost=246t=C 83l (== HM56X)
750,000& *13] 750
OF2E FUAM =22 (THESF)
35,500 *40 x52F 7,384
Ox=ZdAMN =2 38,419
- &= 326,400 *40H 2 123 15,668
—d= 8,588
2g 32,200& x5JH A +83| 1,288
=718 365,000& *5IH 4 43 7,300
—asuEE 63,5003 x 150 2 +43] 3,810




FN: 2SS M
HE: HELBRIAY
Cel: A2 (4=ZAIESEEAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—=X2 FEIAM(&xE = HL)
54,2003 x4 2 x123] 2,602
— it AT (LY, A, F2, UE)
22,6003 x4 A x123] 1,085
—SH2UXNL(UHE) 105,2003 «2 23] *123] 2,525
—NABLT Xots BEBMN 24E
200,000& » 100 2 23] 400
—HiEs= (&2, g2, &)
311,730 *30H 2 *43] 3,741
Ot S0E+==+8
99.92& x800E 365 29,177
OsdXNHe =2 (&, &2, E2)
44,000 *5& x3H A +43] 2,640
OFE Z2EE FL(EL, MR, HIES
g) 300,000 *4H 2 1,200
O+52 43BN BHsg
70,000 +7H »23] 980
ONYHLE HINSLE H4+7Y
6,000 *3,000A E 18,000
O&=EAHEI HdEE M 350&=10,0000H 3,500
O AF2e HFUHAEA HMA(EE, MAS
EX ) 300& «3&+6, 00004 5,400
ON4E 23 NSOIH 28 +42
100,000& =122 1,200
OaaxE Q2 JIANHA AlAY 25
3,300,000& x14 3,300
OA4+523 SXDX Z2I3 7
5,500,000& » 14! 5,500
02 =224l 1,462,964 1,507,204 A44.240
OMxER3 ZT21Y RAES
2,676,000& 42| 10,704
O 288 ¥ RAEH(8E ==Xt
1E EH) 7,500,000& » 14 7,500
O&=EXY FFRH(U=SEF, Hazs)
1,151&+334.3464 =123 4,618
ON+ER3 DM HUSH L& (2=
Y EXNx=>2 ELEF 4103 12,0008 <128 59,040
OSEHZHOUHALAE SIHAEZ
35,0003 13300 & +128 55,860
OSEHZSHOUHALE SN2 4|
5,000,000& =14 5,000
OdIIANEZ 372,000
— oA S 12,100,000& 128 145,200
—&=HAS 8,500,000& x12& 102,000
—E2IAS 8,500,000& x12& 102,000
—HEAS 700,000& 123 8,400
—MAAE 1,200,000& 12 14,400




2A: H22AE A
B gyLvelAY
Sl MACRIBR(MLETAYSHE) CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O&J|etM et ==+3F 2,500,000& 20 & 5,000
O&EIl EII& A 500,000 =104 2 500
ORFHIAIAY =22 (50HA)
400,000& 54 2 #42 | 8,000
OblXelg QEHIO Eds 80,000 =4 CH 320
OB2® gxM ARyl
1,500 x1,1204 =404 2 6,720
Oul=J H2H| 50,000& x123] 600
OdMelE 2EHI0l H=Zbl
1,500 x124 40«12 864
ORHEAAE 22| RXL2
7,000,000& x14 7,000
Oax=ERa RLHZFE I SUAER
90,000& x12& 1,080
OMx=ER3 29 MIIX BEdE ¥ sXES
1,200, 000& 14 1,200
O3 29 HMIIX SHHE
60,000& x12& 720
OBAMLE Ha 242
432.8% *5,800=+3652 916,238
202 04 Hl 2,800 2,800 0
01 =LH YI 2,800 2,800 0
O=ZAE 2Z2A HELSE Ol
350,000& »8H 2,800
206 M= Hl 224,048 161,748 62,300
01 MHZ 4l 224,048 161,748 62,300
OF+=Z 243l 70,848
— PAC 336& *100,000kg 33,600
— XOtE A MUEE 336& *100,000kg 33,600
—Jtaatt 380& *9,600kg 3,648
O+ERNMTY(HASYT L )
7,000,000& » 14! 7,000
O=&0lyd #& 66,200
—AMAEIIHA) 48,000& »400H 19,200
—WHEIHA) 64,000 500 & 32,000
—ddExg) 75,000& 200 M 15,000
OFAF&EHZTI| 2L 200,000& =100CH 20,000
O=ZHEIg 7 90,000& 600 & 54,000
O=&0ld =3 EX 40,000 =754 3,000
OJIEAN HEINE ZLHE ¢
30,000& »100& 3,000
5 a2 S 3,000 3,000 0
01 &= E 3,000 3,000 0
Oa=% A4 23 Eoitia =3
3,000,000 » 14! 3,000
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2L HS2AMEL
M FESDULAMY
SRl ALCIHLAS(MAETAILEEZ AH) (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFLHMeANE SAHe(BEE £)
10,000,000& *53] 50,000
QH=HM2IAIE X2l 2,500,000 304 & 7,500
401 AlEHIZ 2 0HY| 526,350 142,350 384,000
01 Al& b 526,350 142,350 384,000
O&dx=& ANz gA22 410,000
—HAX YATAH(ER, S, 02)
0,000,000 *3H & 90,000
—HEHEAE N2 2= (AH2 ArS)
45,000,000 *204 &~ 90,000
— Al NEEXZ2AH(A)
100,000,000 * 100 & 100,000
— T2 WSS R=(42)
80,000,000 * 104 & 80,000
—ANAE=2 A2 50,000,000 * 14! 50,000
OF =2 IAF D H =2 A
9,000, 000& *4H A~ 23] 72,000
Obl=X & 22,5003 x8,870E *x23| 44,350
CEAMSTZHY 2,715,000 7,817,000 A5,102,000
Fag 1,629,000
= 272,000
= 814,000
403 XX SRS K20 & 2,715,000 7,817,000 A5,102,000
Fag 1,629,000
=} 272,000
= 814,000
02 2| 2SO Uet =22 EAIS Y 2,715,000 7,817,000 N5,102,000
OXotE - SaA-E HH|
2,715,000,000& » 1Al 2,715,000
g 1,629,000
o= 272,000
= 814,000
AQIE 2 ae olZet REAY 1,541,000 0 1,541,000
Fag 1,079,000
= 462,000
403 XX SRS K20 & 1,541,000 0 1,541,000
Fag 1,079,000
= 462,000
02 2| 2SO UeA=2EAEAS Y 1,541,000 0 1,541,000
OADIE &a&Ae| olme 2=
1,541,000,000 14! 1,541,000
hag 1,079,000
= 462,000
LEMNLa2 HUAXIAN NEAY 170,000 0 170,000
Fag 119,000
= 51,000
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 170,000 0 170,000
Fag 119,000
= 51,000
02 BI2SHUESX=2EAEAISHI 170,000 0 170,000
OLsy222 FUTA XNAAY
170,000,000 = 14! 170,000
Fag 119,000
= 51,000
BHEAXMI P SHEMES SN AI (HE)(HEA 693,001 1,000,000 A 306,999
o)
& 485,000
o 208,001
401 Al HI L £ 0HHI 693,001 1,000,000 A 306,999
& 485,000
o 208,001
01 Al& H| 688,635 993,700 A 305,065
QUHSAXMIR sHEMEZSIHE AL (HEH
693,000,000€ x99.37/100 688,635
& 485,000
= 203,635
03 AlE 2 HH]| 4,366 6,300 A 1,934
OUHBANMIT sHEMEESIHL ALY
693,000,000 x0.63/100 4,366
M AL HE = 80,000 0 80,000
401 AlEHIZL 2 0HY| 80,000 0 80,000
01 Al&H| 80,000 0 80,000
Oa=E =Z2Z2HE =& 80,000,000 14 80,000
ARAD =T AL 22 (AT AILSSESIH) 1,859,510 2,276,595 A417,085
o= 1,120,000
= 739,510
ARELETAIE 22 22 259,510 276,595 A 17,085
201 et 9| 103,990 121,875 N 17,885
01 AR 22l ] 103,990 121,875 N 17,885
O H2E =ZHA 242 (8] 6HE=2)
30,700 *35JH A~ x23] 2,149
O XotE =2 2ZA =42 (2813 110 E
=2) 75,8002 3004 2~ 2,274
O HZ22 =HAA =222 (2E13] WE=
) 217,000 x200H A~ 4,340
OB+ HE= +HAN 242 (2B 2)
326,400 x90JH A~ 29,376
OB4 +FAMN £22(2I BHES)
56,500 90K A *33| 15,255
O&L(Kotz) =E22AA =42 (R2E)
10,6002 x55JH A x4 3| 2,332




- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
DR+ (Nol+) 2HINEBE=E FHBN T2l
cteE) 50,0002 x900H A *x23| 9,000
ODIRH2IE +HAA L HBAN 248
326,400 1000 2~ 3,264
OSYA(ARDLTAIL) BaA44E
200,000 *90H A x23| 36,000
206 M = Hl 3,520 5,720 N 2,200
01 X Z H| 3,520 5,720 A 2,200
OHEE ASAHE (DM, 22223 70%) 7
4,400& *800kg 3,520
401 AlEHIZL 201 Y| 152,000 149,000 3,000
01 Al&H| 152,000 149,000 3,000
OARA2LETAAE EH ¢ 28 HZ2X2
7,000,000 *4 0 2 28,000
OALAFAREZANAE 2183 232
100,000, 000& x 14! 100,000
OXlotg EXx2=a AX 12,000,000 «2H A 24,000
ARE STIHEAYE XA (HE)(HEAY) 1,600,000 2,000,000 A 400,000
& 1,120,000
= 480,000
401 AlEHIZL £ 0HY| 1,600,000 2,000,000 A 400,000
& 1,120,000
= 480,000
01 Al&H| 1,594,240 1,992,800 A 398,560
OALRARLT ALY HAISH (A EH)
1,600,000,000& x99.64/100 1,594,240
& 1,120,000
= 474,240
03 AlE 21| 5,760 7,200 A 1,440
OAFABRLESAIE JHEALY
1,600,000, 000 «0.36/100 5,760
222 1,500,000 947,790 552,210
OlHIH (A AL ELESH) 1,500,000 947,790 552,210
ol g1 4] 1,500,000 947,790 552,210
801 Ol 1l Hl 1,500,000 947,790 552,210
01 LBHoldl bl 132,120 947,790 A 815,670
Ouolgl gl 132,120,000 132,120
02 RHGH - XH L= = 0l dl Bl 1,367,880 0 1,367,880
O IHoH == 0l dl bl 1,367,880,000& 1,367,880




